
DESCRIPTIONSHIMANO
CODE NO.

ITEM
NO.

*

0904-728A

Y-278
Y-278
Y-247
Y-243
Y-278
Y-360
Y-247
Y-278
Y-278
Y-000
Y-279
Y-279
Y-279
Y-279
Y-279
Y-279
Y-279
Y-279

Complete Hub Axle 164 mm (6-15/32")
Hub Nut (M10)
Lock Nut (M10 x 7.5 mm)
Key Washer
Cone (M10 x 15 mm) & Seal Ring
Seal Ring
Hub Axle M10 x 164 mm (6-15/32")
Lock Ring
Dust Cap
Stainless Ball (1/4") 18 pcs.
Sprocket Wheel 13T (1/2" x 1/8")
Sprocket Wheel 14T (1/2" x 1/8")
Sprocket Wheel 15T (1/2" x 1/8")
Sprocket Wheel 16T (1/2" x 1/8")
Sprocket Wheel 13T (1/2" x 3/32")
Sprocket Wheel 14T (1/2" x 3/32")
Sprocket Wheel 15T (1/2" x 3/32")
Sprocket Wheel 16T (1/2" x 3/32")

1
2
3
4
5
6
7
8
9

10

11

98050
98100
06010
16000
98120
09000
03120
19000
11000
91370
13100
14100
15100
16100
13000
14000
15000
16000

Over Lock Nut Dimension: 120 mm (4-23/32")

9 pcs.9 pcs.

1

2 3 4
5

6
234

5

6
7

89109 10
11

HB-7600-R
SS-7600

DURA-ACE TRACK

Rear Hub

Single Sprocket


